T TEEEQ) RKIRTF (1)
zs NI Sy s 4
woo _ i [i] ”$ A W 0 _ {ZN &
S JEHEI RAE JEHEI RAE
-1.6 0.0 0.0
0.0 5.8 1.4 2.90 0.70 1.6 4.6 1.1
4.0 4.1 1.4 4.95 1.40 4.0 19.8 5.6
8.5 8.3 1.4 6.20 1.40 4.5 27.9 6.3
10.2 0.00 0.00 4.15 0.70 1.7 7.1 1.2
= 11.8 59.4 14.2




T TEHRERZE) KIRTF(2)

. Gy [id] Oy W o . {ZN i
TR - - B e a
HSTAI Hshk 2 HSTAI Hehk a2 Bkl

62.5 1.0 1.4
64.5 0.7 2.3 0.85  1.85 2.0 1.7 3.7
66.5 0.4 0.7 0.55  1.50 2.0 1.1 3.0
= 4.0 2.8 6.7




T TEHERZEQ) RKIRTF (1)

= W 1] ¥ W | W (S FH
RN BT PEIREESE) HERL HEIRRESL ML
-1.6 0.0 0.0
0.0 0.2 0.9 0.10 0.45 1.6 0.2 0.7
4.0 0.2 0.9 0.20 0.90 4.0 0.8 3.6
8.5 0.2 1.0 0.20 0.95 4.5 0.9 4.3
10.2 0.0 0.0 0.10 0.50 1.7 0.2 0.9

2.1 9.5

o3
paill
—
—
@]




+ TEHEE4) KIRT()
o i DR _— i T
T s HHGY HHGY
-1.6 0.0
0.0 3.0 1.50 1.6 2.4
4.0 3.2 3.10 4.0 12.4
8.5 3.5 3.35 4.5 15.1
10.2 0.0 1.75 1.7 3.0
& 11.8 32.9




